BB KB X

T il H % B & i 22
+T 1. 00 (1.00) =X
P T 1.00 (1.00) =X
3| 3. 17+3. 40+28. 73+12. 79 48.00 (48.00) m3 |EEE I
A i T 1 TR AT
RR7ZS 48.00 (48.09) m3 [T
EhARIR S T 1.00 (1.00) =
SRS T 1. 00 (1.00) =X
EHEEREIMI T 15emELF - AS
45.30+21. 05 66. 00 (66.35) m | gt
LSRR T AS t=5cm
31.72+287. 33 319.00 | (319.05) m2 | JAEAT
AS t=10cm
68. 11+255. 89 324.00 | (324.00) m2 | JLANEAT
AS t=15cm 56. 00 (56.78) m2 ‘
AR T 8. 39+48. 48 56. 00 (56.88) m3
BEKEMALEL T 0. 1040, 05 0.10 (0.15) m3
ST 1.00 (1.00) =X
R T 1.00 (1.00) =
REEFREE| R (M40)
99. 89+600. 00 699. 00 (699.89) m2 | LK
T AT 7V N 1. 00 (1.00) =X
ZETEALER | AR A ARAT - t=10cm
R
99. 89+19. 14 119. 00 (119.03) m2 gffﬁgﬁf
#IE| FAEBRIEASCLS « t=5cm
R TR
99. 89+19. 14 119. 00 (119.03) m2 gffﬁgﬁf
o
ZETEALER | AR B ARAT - t=10cm
| mETERE
600. 00-19. 14 580. 00 (580.86) m2 | HELN
#FE| HR—7 AASCI3 « t=5cm
| mETERE
600. 00-19. 14 580. 00 (580.86) m2 | LN
X E#R T 1.00 (1.00) =X
X iR T 1.00 (1.00) =
AR ES| EasaE B Bk cRLEL 26. 00 (26.80) m | EIIAE
FHlGenll B PEKPEAREO B G 194.00 | (194.40) n | EPELRE
Sl B HEKPERRE TR B 13. 00 (13.40) m ’Z’f‘;gf’%)i
Eseni PSSO SA 97.00 (97.20) m | EIRIHE
FabemiE A PEKMERRE TRV S
o s ) ) EFR T ER
25. 20+2. 50 27.00 @170 n | Sy
Shtenll B PEKPEAREO B G 5..00 (.15) m | EPRIAE
RED - T - F2E 15en#BE 1 19.00 (19.80) m | ERIAE
G- SCE R 1beniE # HERPESRED S 47.00 (47.40) m 'Z;”E;;If%)i
T 1.00 (1.00) =X
MET 1.00 (1.00) =X
S 2 A4 A E IR L 1.00 (1.00) =
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(1~3=1f&dT) HEH

A8 IR

31.78%0. 10

m3

BERR SR /E 10cm¥

(27. 70+45. 62+26. 57-31. 78) *0. 05

3. 40

m3

&
&
4
B

TROEER

3.17+3. 40

6. 57

m3

(4= t&pPT) HEH

i
S

A8 IR

287. 33%0. 10

28.73

m3

BERR SRR /H 10cm¥

255. 89%0. 05

12.79

m3

TROEEH

28.73+12.79

41.52

m3




SHEERR UM T EEEE
T i ¥ O = i
S G T
(1~35t&FT) T A7 7V MK (t=10cm)
(7. 55+7. 55+7. 55) *2 45.30 m
T K E AL T BACGEMOE T (7 27 7V M)
(45. 30%0. 10) *0. 023 0.10 m3
(4= & PT) 7 A7 7 )V M (t=10cm)
7. 30+5. 90+7. 85 21.05 m
T K E AL T BAGEMOE T (7 A7 7V M)
(21. 05%0. 10) *0. 023

0.05 m3




SEERR AR TR R E

T M B K& & i
SIS R I
(1~35-f& ) 7 A7 7 v M (RE1RES + t=bcm)

31. 78-0. 06 31.72  m2

7 A7 7 v MM (t=10cm)
27.70+45. 62+26. 57-31. 78 68.11  m2

As AR ALER T AsTREHRALE T
31. 72%0. 05 1.59  m3
68. 11:0. 10 6.81 m3
At 8.40 m3
(45 &) 7 A7 7 v M (RE1RES + t=bcm)

235. 25+53. 02-0. 94 287.33  m2

7 A7 7 v MM (t=10cm)
491. 14-235. 25 255.89  m2

7 A7 7 v MM (t=15cm)
109. 80-53. 02 56.78  m2

Asi R ALER T AsTREHRALE T

287. 33%0. 05 14.37  m3
255. 89%0. 10 25.59  m3
56. 78%0. 15 8.52 m3
At 48.48  m3
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£ (1~3 5T

‘ N #FET LlERET PERR A
H] J=y PR
A BRI EEASC RN—F AASC | HABTLEOHM| ~ oA — %
(1f&FT)
(m) M (m) | difEm2) | M (m) [ m2) [ M) [mfEm2) | A | wkme)
15Kk (0. 23)
B.P.1 0.00] 7.55 7.55 ¢ 540%1 0.23
15Kk (0. 38)
E.P.1 3.75| 7.55 28. 31 7.55 28.31 |¢700%1 0. 38
15Kk (0.03)
B.P.2 0.00] 7.55 7.55 b 210%2 0. 06
E.P.2 6.05] 7.55 45. 68 7.55 45. 68
15Kk (0. 23)
B.P.3 0.00] 7.55 7.55 ¢ 540%1 0.23
15Kk (0. 38)
E.P.3 3.60[ 7.55 27.18 7.55 27.18 | ¢ 700%1 0. 38
&5t 1.28
m m2 m2 m2 | SREEET (FERRY)
&t 13. 40 101. 17 0. 00 101. 17 99. 89




A Mef. Bl = | AA = AATD
SIETHEHAE UsET)
‘ o FET e T PERR A
H] H PR
AR FEASC RN—F AASC | HABFTLCOHM| ~ oA — %
(1f&FT)
(m) M (m) | difEm2) | M (m) [ m2) [ M) [mfEm2) | A | wkme)
A7k (0. 02)
-2.90 0.00] 7.30 7.30 ¢ 160%1 0.02
(anikrs (0.11)
B.P.1 2.90] 5.90 19. 14 5.90 5. 90 19. 14 | ¢ 380%2 0.22
TAANFL] (0.35)
NO. 1 20. 00 5.90 | 118.00 5.90 | 118.00 |¢670%2 0. 70
NO. 2 20. 00 5.90 118. 00 5.90 118. 00 =1s 0. 94
NO. 3 20. 00 5.90 118. 00 5.90 118. 00
NO. 4 20. 00 5.90 | 118.00 5.90 | 118.00
E.P.1 18. 00 6. 30 109. 80 6. 30 109. 80
m m2 m2 m2 | SREEET (FERRY)
&t 100. 90 19.14 581. 80 600. 94 600. 00




XE#R LHEHEE
T M Bl K& & i
DX R T
(1~37 &) FE# 15cniE A
sl (3. 75+6. 05+3. 60) *2 26. 80
FE#  15cmiE K
A —TA 3. 75+6. 05+3. 60 13. 40
FE# 45cniE H
& ik % 2. 50%1 2. 50
RED « X - FH 15en#E H
S (A Ye—2) 19. 80%1 19. 80
(475 &) R 15cniE A
AN [ 7 97. 20%2 194. 40
FE#  15cmiE K
=T 97. 20%1 97. 20
FE#t 45cniE H
T T A 3. 60*7 25. 20
= Ik 2. 55+2. 60 5.15
RED « X+ FLH 15en¥E 3K
S (40) 23. 70%2 47. 40




